
2

(PSERCB)

PSERCB-RC

1



3

4

2



5

6

3



7

8

4



9

10

5



11

12

X Y

6



13

1.

2. RC or

3.

14

5 150kgf/cm2 12
175kgf/cm2 17

220kgf/cm2(
)

RC 15 #3@30( )
15 #3@30( )

5F #3@30 5F 5 #3@30 12
#4@20 17 #4@15(

)
5F 1.5% 12F
2%

5 1.5% 12 2%
17 3%(

)
( ) 5F 1.2 tf/m2 12F

1.4 tf/m2
5 1.1tf/m2 12
1.3tf/m2 17 1.5tf/m2
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fy=2800 kgf/cm2 80
4200 kgf/cm2
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2.4
30 VS30

VS30 270 m/s ( ) 180 m/s VS30 270 m/s
( ) VS30 180 m/s ( )

VS30

di i (m) Vsi i
(m/sec)

(1)
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Ni i N qu i
(kgf/cm )
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2. 30 N
3. 30 CH N

su
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b 8 w=0
3 b 8 w=(8 b) / 5
b<3 w=1.0

(6)
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c 6 w=0
2 c 6 w=(6 c) / 4
c<2 w=1.0
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cB

cH
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63 2 (1.0)
63 2 71 6 (0.67)
71 6 86 5 (0.33)
86 5 (0)
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http://www.cpami.gov.tw/chinese/index.php?option
=com_

content&view=article&id=10562&Itemid=57)
(a)  (b)  (c)
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( http://www.cpami.gov.tw/chinese/index.php?option=com_
content&view=article&id=10562&Itemid=57)
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Vuj= Cvcj Vcoli Nci + Cvsj Vswi Nswi + Vscoli Nsci)+ Cvbj Vbwi Nbwi
j=1~3
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#3@25

8-#7
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2' /160 cmkgffc

2/2800 cmkgfff yvy
2/100 cmkgffmc

2/150 cmkgffbc
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Cvc1 0.65

Cvs1 0.85
Cvb1 0.95
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CRs1 1.0
CRb1 0.45
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j 1 2 3
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Cvcj 0.65 0.95 1
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Cvsj 0.85 0 0

CRsj 1 0 0
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Cvbj 0.95 0.85 0
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